# A STUDY ON DIGITAL FINANCIAL INCLUSION WITH SPECIAL REFERENCE TO PRIVATE BANKS IN BENGALURU CITY

Mr.Ganesh.K.T1

Asst Professor & Research Scholar, Dept. of Commerce, Bharathi College - PG & RC, Bharathinagara, Mandya Dist. Karnataka

Dr. S. Swami Doss<sup>2</sup>

Principal and Associate Professor in Commerce, P.M.T College, Melaneelithamallur, Sankarankoil, TN.

#### **ABSTRACT**

Financial inclusion is a worldwide scenario that associates each person into the access and utilization of extensive variety of financial products and services at a reasonable expense and time. Banks corrected their approaches to help seniority individuals, and snatch adolescents who were extremely careless to banking access. Extension of biometric would enable seniority to individuals to effortlessly execute, and instruction about investment funds and advantages of banking exchanges, particularly mechanical mode in work put and instructive institutions would expand the entrance and use among adolescents. This examination focuses around two core components to be specific access and utilization of financial products and services that associates individuals to formal financial institutions for financial exchanges. In spite of services rendered by post workplaces and microfinance institutions, banks were considered as establishment that can elevate the status of financial inclusion in view of its augmented financial services related with financial products.

**KEYWORDS:** Digital, Financial, Inclusion, products, services.

## INTRODUCTION

Financial inclusion advances economic development. A proficient financial framework in a nation incorporates all around created business banks. The nation's structure of financial framework assumes a vital job in smooth and effective working of the economy also. A financial framework includes set of different portions and is related with institutions, specialists, practices and markets. Financial development through a system of banking institutions assembles savings and investment in the economy for productive purposes.

Financial inclusion includes the conveyance of financial services at a reasonable expense to all fragments of society. As indicated by the Alliance for Financial Inclusion (AFI), "access to financial services is the establishing standard" of financial inclusion. AFI's Financial Inclusion Data (FID) Working Group, characterizes the three fundamental measurements as access, use and quality. Today, financial inclusion is a noteworthy global arrangement objective, including as an empowering agent of a large number of the UN Sustainable Development.

#### **Definition of Digital Financial Inclusion**

"Digital financial inclusion" can be defined as digital access and use of formal financial services by excluded and underserved populations. Such services should be suited to the customers' needs and delivered responsibly, at a cost both affordable and reasonable to the customer.

## **Significance of Financial Inclusion**

The significance of financial inclusion is that it is valuable in accomplishing comprehensive development which is supportable. Therefore financial inclusion has climbed the worldwide change motivation inside circles of approach producers, showcase controllers, specialists, advertise professionals and banks. The World Bank Group views it as a centre point due its conviction that financial inclusion helps flourishing and decreases neediness. Half of the world's grown-up populace does not have bank accounts despite the fact that it is generally acknowledged that financial inclusion would profit the poor who cannot get to these services because of market disappointments or ineffectively executed open approaches. A World Bank report not just contends that financial inclusion can decrease neediness yet in addition features the significance of outline of these endeavours. It contends that having financial inclusion that just expands the lethargic records is not advantageous since the record holders ought to likewise be using the record to spare and enhance their economic circumstance. So also, giving credit no matter what could expand social and economic flimsiness of the economy and the record holders as opposed to giving soundness to them.

Financial inclusion is a two-advance process where the main concern is not acquiring a record, which is only the initial step, yet additionally uses of the record to enhance one's economic and social circumstance. In any case, it is not adequate to implant credit and increment the quantity of record holders, yet in addition to guarantee that conveyance of advances does not prompt financial unsteadiness and records being torpid.

#### **Benefits of a Cashless Economy**

In a cashless society, public can make their payments on the internet, at unmanned candy machine, kept an eye on Point of Sale utilizing cell phones, shrewd cards and different cards like Master card and Visas. Developments in innovation have extraordinarily helped financial inclusion with developments like versatile payment, portable banking and borrower distinguishing proof utilizing bio-metric information, giving access to financial services has turned out to be less expensive and more secure. As per a few examinations, if the controllers permit contending financial service suppliers and purchasers to exploit innovation, the intensity of this new innovation can be saddled with the end goal of more prominent financial inclusion. While it has been perceived that being cashless necessities an expansion in financial inclusion, it isn't known whether financial inclusion needs cashless approaches. Despite the fact that few ongoing examinations have demonstrated that to increment financial inclusion, radical strategies are required to accomplish a cashless economy.

Studies have demonstrated that with digital exchanges, the exchange cost will diminish since the cash spent in travel will naturally wind up insignificant. Studies have likewise demonstrated that digital exchanges help decrease the weight and danger of conveying overabundance money. The strategy additionally had the goal of decreasing the bank's expenses to serve, thus making banks more moderate. The decrease in illegal cash available for use, evacuates the likelihood of physical cash being stolen, helpful for government for learning of the individuals who go under various classifications of pay assess.

## Objective of the Study

The objectives of the study are as follows:

- 1. To study the reasons behind digital finance and financial inclusion.
- 2. To present the scenario of banking and financial inclusion of Bengaluru.
- 3. To understand the benefits of implementing digital finance in financial inclusion in private banks of Bengaluru

#### REVIEW OF LITERATURE

Mukhopadhyay (2016) called attention to asymmetry in assessing financial inclusion from supply side and request side factors. The creator utilized information from a dish India overview of an agent grown-up populace, to process a financial inclusion list for states catching interest side data. The creator discovered differential access to bank credit among poor and non-poor in the majority of states and that non-poor people will probably spare in a bank contrasted with poor. Additionally, to set aside extra cash, keeping it at home and in chit reserves was favoured even in non-poor states. He noticed that just offering access to financial services may not help accomplish agreeable outcomes as genuine utilization of these services was not ensured.

Servet (2018) discussed about the issues regarding a bank savings impetus program in India. As per Servet, by upholding that cash spared in a bank ought to be of 'better quality' than different structures and practices of savings (casual, financial or in-kind), these arrangements turn out to be a piece of a quantitative and not subjective way to deal with fiscal backings, including the non partisanship of these backings, substitutability, the nonappearance of any ethical evaluation of the streams of cash, and so forth. Be that as it may, various examinations have revealed insight into the nonappearance of any 'unconstrained' utilization of bank accounts opened keeping in mind the end goal to get open guide; the arrangement more often than not comes down to the withdrawal of everything of the guide

Viswanathan, (2014) this dynamic, sought after by the new government chose in 2014, makes financial inclusion one of the fundamental mainstays of the changes for maintained development and for the decrease of neediness and disparity in the nation. The goal of the RBI is that every Indian town of in excess of two thousand occupants ought to have a bank branch as a physical office or the perpetual nearness of a banking reporter (BC), and that each national ought to be under fifteen minutes' stroll from one of these substances.

Erb and Harriss-White, (2002) despite the vast number of open projects since 1947, numerous eyewitnesses concurs that not every single potential beneficiary has gotten the cash they could guarantee. A few variables clarify this misallocation of social exchanges: defilement and theft, yet in addition absence of data.

Dr. C Rangarajan (2008) characterized the way toward guaranteeing access to financial services and auspicious and sufficient credit where required by powerless gatherings, for example, weaker segments and low wage bunches at a moderate expense." According to the Committee on Financial Sector Reforms driven by Dr. Raghuram G. Rajan, financial inclusion can be extensively characterized as, "general access to an extensive variety of financial services at a sensible expense. These incorporate banking services as well as protection and value products."

# RESEARCH METHODOLOGY

Details regarding the research design, data collection questionnaire, sampling plan, area of the study and statistical tools used have also been given. The researcher approached selected private banks in Bengaluru and collected relevant responses from 307 customers of the private banks that are considered as the respondents of the research.

#### **Research Design**

Research design is purely and simply the framework or plan for a study that guides the collection and analysis of the data. The research design indicates the methods of research i.e. the method of gathering information and the method of sampling study is descriptive in nature.

## **Sampling Design**

Sampling design comprises four major areas: Population, Frame, Sampling method and Sample size estimation.

#### **Research Tools Used For the Present Study**

- ANOVA
- ➤ CHI SQUARE

#### **DATA ANALYSIS**

This section involves analysing data collected from the customers of private banks in Bengaluru. The data thus gathered is scrutinized and deduced to draw a conclusion for the subject under study.

One way analysis of variance of the age with Innovation in financial services, Promoting economic welfare, Reducing Inequality, Quality infrastructure, Motivation, Digital Finance, and Financial Inclusion.

#### TABLE - 1

H<sub>01</sub>: There is no significant difference between age groups with Innovation in financial services.

H<sub>02</sub>: There is no significant difference between age groups with Promoting economic welfare.

H<sub>03</sub>: There is no significant difference between age groups with Elevate Inequality.

H<sub>04</sub>: There is no significant difference between age groups with Quality infrastructure.

H<sub>05</sub>: There is no significant difference between age groups with Motivation.

H<sub>06</sub>: There is no significant difference between age groups with Digital Finance.

H<sub>07</sub>: There is no significant difference between age groups with Financial Inclusion.

		Sum of	df	Mean	${f F}$	Sig.
		squares		square		
Innovation in financial	Between Groups	2.286	4	.572		.999
services	Within Groups	2.286	4	.572	.026	
	Total	6515.987	306			
Elevate economic	Between Groups	23.606	4	5.902		.469
welfare	Within Groups	1996.974	302	6.612	.892	
	Total	2020.580	306			

Reducing	Between					.106
Inequality	Groups	77.192	4	19.298		.100
	Within Groups	3028.671	302	10.029	1.924	
	Total	3105.863	306			
Quality infrastructure	Between Groups	29.866	4	7.467		.803
	Within Groups	5526.525	302	18.300	.408	
	Total	5556.391	306			
Motivation	Between Groups	2.157	4	.539		.996
	Within Groups	3674.684	302	12.168	.044	
	Total	3676.840	306			
Digital finance	Between Groups	6.458	4	1.615		.956
	Within Groups	2940.656	302	9.737	.166	
	Total	2947.114	306	A.		
Financial inclusion	Between Groups	19.200	4	4.800		.794
	Within Groups	3452.806	302	11.433	.420	
	Total 🧴	3472.007	306			

# \* Significant at the 5% level

# **Analysis**:

It can be seen from above Table that null hypotheses are accepted as the p values are greater than 0.05 for Innovation in financial services, Reducing Inequality, Quality infrastructure, Innovation in financial services, Reducing Inequality, Quality infrastructure.

## **Discussion**:

There is no significant difference between education groups with regards to the Innovation in financial services, Promoting economic welfare, Reducing Inequality, Quality infrastructure, Motivation, Digital Finance, and Financial Inclusion.

One way analysis of variance of the age with Innovation in financial services, Promoting economic welfare, Reducing Inequality, Quality infrastructure, Motivation, Digital Finance, and Financial Inclusion.

H<sub>08</sub>: There is no significant difference between age groups with Innovation in financial services.

H<sub>09</sub>: There is no significant difference between age groups with Promoting economic welfare.

H<sub>10</sub>: There is no significant difference between age groups with Elevate Inequality.

H<sub>11</sub>: There is no significant difference between age groups with Quality infrastructure.

H<sub>12</sub>: There is no significant difference between age groups with Motivation.

H<sub>13</sub>: There is no significant difference between age groups with Digital Finance.

H<sub>14</sub>: There is no significant difference between age groups with Financial Inclusion.

		Sum of	df	Mean	F	Sig.
		squares		square		
Innovation in financial	Between Groups	162.448	4	40.612		.105
services	Within Groups	6353.539	302	21.038	1.930	
	Total	6515.987	306			
Elevate economic	Between Groups	41.627	4	10.407		.177
welfare	Within Groups	1978.953	302	6.553	1.588	
	Total 🥼	2020.580	306			
Reducing Inequality	Between Groups	43.441	4	10.860		.371
	Within Groups	3062.423	302	10.140	1.071	
	Total	3105.863	306			
Quality infrastructure	Between Groups	30.754	4	7.688		.794
	Within Groups	5525.637	302	18.297	.420	
	Total	5556.391	306			
Motivation	Between Groups	62.261	4	15.565		.270
	Within Groups	3614.580	302	11.969	1.300	
	Total	3676.840	306			
Digital finance	Between Groups	28.264	4	7.066		.571
	Within Groups	2918.850	302	9.665	.731	
	Total	2947.114	306			
Financial inclusion	Between Groups	52.460	4	13.115	1.158	.329
	Within	3419.546	302	11.323	1.130	

Groups			
Total	3472.007	306	

<sup>\*</sup> Significant at the 5% level

## **Analysis:**

It can be seen from above Table that null hypotheses are accepted as the p values are greater than 0.05 for Innovation in financial services, Elevate Inequality, Quality infrastructure, Innovation in financial services, Reducing Inequality, Quality infrastructure.

#### **Discussion:**

There is no significant difference between education groups with regards to the Innovation in financial services, Promoting economic welfare, Elevate Inequality, Quality infrastructure, Motivation, Digital Finance, and Financial Inclusion.

Chi – Square Tests

	Value	df	Asymp.Sig.	Statistical
		.46	(2 – <b>sided</b> )	Inference
Pearson Chi-	201 4618	16	.000	X <sup>2</sup> =201.461
Square	201.461 <sup>a</sup>			<b>Df</b> = 16
Likelihood Ratio	177.454	16	.000	P= .000 <0.05
Lincon by Lincon		1	.000	
Linear-by-Linear Association	87.733			*Significant
Association				at 5% level
N of Valid Cases	307		1 19	

Significant at 5% level

# **Analysis:**

It can be seen from above Table the P value is lesser than our chosen Significance at = 0.05 levels, the null hypothesis is rejected.

## Discussion

It is therefore concluded that there is an association between Age and Education factors.

#### **CONCLUSION**

Banking sector in India has demonstrated a determined development through commencement of numerous welfares conspired by the Reserve bank, Central Government and State Governments. The financial inclusion approach has turned out to be one of the goals. On one hand, the banks are giving enough products and services to every one of the general population, however then again, individuals are not prepared to acknowledge. Regardless of not every one of the banks are giving a wide range of product and services, the emphasis is more on carelessness of individuals than what the banks are giving. India is a country populated with more young people. In this populace, instructed are observed to be more careless in thinking about banking exchanges. A portion of the instructive institutions constrain students to utilize banking services and at that point, students find out about banking. This investigation reasons that to accomplish financial inclusion in general, it is an aggregate duty of financial institutions and individuals also to contribute similarly, though banks ought to change their services as per individuals need, and individuals should approach to know the need of exchange through formal financial institutions.

#### REFERENCE

Erb, S. and B. Harriss-White (2002) Outcast from social welfare: Adult disability in rural South India (Bangalore: Books for Change).

Viswanathan, R. (2014) 'RBI report on financial inclusion: A review', Economic and Political Weekly, 49(9), pp. 16-19.

Servet, J.-M. (2018) Le nouveau comportementalisme en économie. Un néolibéralisme à visage humain (Paris: Charles Léopold Mayer).

Jyoti Prasad Mukhopadhyay (2018) A Demand-side Approach Financial Inclusion in India. Vol. 51, Issue No. 49, 03 Dec, 2016